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Problem solving - area
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Garden Plan

1 e gorden hos two paths that are perpendicular to each other.
Each path is 2 m wide.

a) What is the total area of the paths?

b) What is the total area of the grass?
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This path is the shape
of a rectangle.

This path is the shape of
a parallelogram.
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Area of the parallelogram
=10x2=20m?

Area of the rectangle
=8x2=16m?

The paths overlap! I wonder how I can
find the total area without including the

area of the overlapping square twice?

To find the total area of the paths, add up the area of each
path and subtract the area of the square.

Area of the square =2 x 2 = 4 m?
16+ 20 = 36 m?

36-4=32m

The total area of the paths is 32 m?.

To find the area of the grass, find the area of the
parallelogram then subtract the area of the paths.
Area of the parallelogram = 10 x 8 = 80 m?

Area of the paths = 32 m?

Area of the grass = 80 - 32 = 48 m?
The total area of the grass is 48 m?.
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Think together

o The school garden is a
rectangular shape. Use both
Isla’s and Mo's methods to find
the total area of the garden
that is made up of flowers.
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Iwill find the area of the Twill find the area of
whole garden, then subtract each flowerbed and
the area with vegetables. add them together.
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€ sofia s colculating the number of triangular tiles needed to cover her

bathroom floor.
e
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a) What is the area of the floor?
b) What is the area of one tile?

©) How many triangular tiles are needed to cover the whole floor?




image3.png
e Toshi's garden is a rectangle of grass surrounded by
apath I m wide.
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@) Calculate the area of the path.

b) Toshi wants to test out his new tent by putting it up on the grass.
The tent will take up 45 m?.

Is there enough room on the grass for the tent?

Ithink I can find the
solution in two ways.

First, I will find the area of
the whole garden. Then I will
calculate the area of the grass.





